[ Efficiency vs vertpos |

=0.02
$.018
[
.016
(&)
$.014
_U
$.012
0.01
0.008
0.006
0.004F

0.002F

o 0OF !

3 s :

O g gfgfieeeerrre o
1:—« --------------------------------------
1072 107 1

10 0?
TP vertr (cr%)

[Sejeieele

Efficiend

il &t

are.
arelh—s
are, S
aresu—s

-

€|
€
e
e

~0.05

2 0/1-| RSOt SOSURR SRR SUS FINR S
o
S0.04F - reee e
>
Y0l RS SOUSR SRR JOY AN S
O
=10 )0)C] eRRETTET TPPFEPPEIPS FEPPR-PPREY N ERPREPPRE PR
o F
X073/ SRR HORE ORI & N S
11071 RSP SR 1 'ERS LI LEOSR SO
0.015F ++-+wieseeesiee 501 N LI
00 LTI (N N L S
0.005f-++++-ieseeesises B
Y S SN S U 0 £ S SO
§ 1.2F------ ------- : feemannns e
k
0 10 20

[ Efficiency vs. sim PV z |

30
TP vert z (cm)

~0.05

>
£0.045

=
50.04

..................

..................

.....

~|:

L,

-

..... -

08 6 -4 -20 2

476 8 10
Sim. PV z (cm)




	Contents
	Page 1


